Code No: 155BG R18

Answer any five questions
All questions carry equal marks

[IAIN { ~
2. Consuier two codes wnth panty check matrices
1 01 0 0 11 1 i
H_[l 10 1 and H= [1 10 1 respectively.

a) Determine all code words of the two codes
b) Prowde G and H i in symmetrlc form for both codes

,' A

(x)'"""“"l + x% + x* + x‘__ + X7+ x10 :
(21 1 l) cycllc code. Determine the check polynomlal of '[hlS code. [1 5]

4. Let g(x) be the generator polynomial of a binary cyclic code of length n. (a) Justify that
if (x + 1) is a factor of g(x), the code contains no odd-weight code words. (b) If n is
odd and (x + 1) is not a factor of g(x) _jUStIfy that the code contams the all-1s code
word . A, £ [] 5} o

.......

Considerthe convolutional-gncoder shown-in Fig above Determine the transfer function

¢ matrix for the conml‘utlonal code and’ draw one stage. Qf the trcllls for tlie encoder [15]_.._ : i ‘
- H i A £ Y,
6. Dlscuss max1mum-11ke11hood decoding. [IS]
7 Distinguish serial concatenation and parallel concatenation. [15]
8 An}_‘glyz_g__t];_? perfonganc__g_g{ Multi - Layet_DetectionEchf;_mgg - [15]
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